

Article

New Generalized Hermite-Hadamard Inequality and Related Integral Inequalities Involving Katugampola Type Fractional Integrals

Ohud Almutairi ^{1,†} and Adem Kılıçman ^{2,*,†} 

¹ Department of Mathematics, University of Hafr Al-Batin, Hafr Al-Batin 31991, Saudi Arabia; AhoudbAlmutairi@gmail.com

² Department of Mathematics and Institute for Mathematical Research, Universiti Putra Malaysia, Selangor 43400, Malaysia

* Correspondence: akilic@upm.edu.my; Tel.: +603-89466813

† These authors contributed equally to this work.

Received: 12 February 2020; Accepted: 31 March 2020; Published: 5 April 2020



Abstract: In this paper, a new identity for the generalized fractional integral is defined. Using this identity we studied a new integral inequality for functions whose first derivatives in absolute value are convex. The new generalized Hermite-Hadamard inequality for generalized convex function on fractal sets involving Katugampola type fractional integral is established. This fractional integral generalizes Riemann-Liouville and Hadamard's integral, which possess a symmetric property. We derive trapezoid and mid-point type inequalities connected to this generalized Hermite-Hadamard inequality.

Keywords: convex function; generalized convex function; Hermite-Hadamard inequality; Katugampola fractional integral

1. Introduction

The emergence of convexity theory, in the field of mathematical analysis, has been considered as the remarkable development. Due to the wide applications of convexity, variety of new convex functions have being reported and widely studied in the literature. The definition of a classical convex function is given below.

Definition 1. A function $\mathcal{G} : V \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is said to be convex if

$$\mathcal{G}(\vartheta m + (1 - \vartheta)n) \leq \vartheta \mathcal{G}(m) + (1 - \vartheta)\mathcal{G}(n),$$

holds for all $m, n \in \mathbb{R}$ and $\vartheta \in [0, 1]$.

This notion has inspired many to formulate new inequalities. Many new classes of inequalities that are related to the convex functions have been derived and applied to other field of studies, see [1,2]. Among the interesting classes of such inequalities are those of Hermite-Hadamard's type, which have been applied to many problems in finance, engineering and science. Similar to the convexity, convexity inequality, for a function $\mathcal{G} : V \subseteq \mathbb{R} \rightarrow \mathbb{R}$, the Hermite-Hadamard inequality can also be defined as

$$\mathcal{G}\left(\frac{m+n}{2}\right) \leq \frac{1}{n-m} \int_m^n \mathcal{G}(x)dx \leq \frac{\mathcal{G}(m) + \mathcal{G}(n)}{2}. \quad (1)$$

In the literature, many generalizations of Hermite-Hadamard type inequalities are established by applying the generalizations of convexity. For example, very recently, a new type of integral inequality for regular convex function was studied by [3]. Furthermore, many researchers have been studying the generalization of inequality in (1) motivated by various modifications of the notion of convexity, such as s -convexity and generalized s -convexity, for example see the details in ([4–7]), where Hermite-Hadamard inequality were extended in order to include the problems that related to fractional calculus, a branch of calculus dealing with derivatives and integrals of non-integer order (see [8–13]). Nowadays, the real-life applications of fractional calculus exist in most areas of studies [14,15]. Based on the application of fractional calculus, the mathematicians defined its derivatives and integrals differently. Thus there are many type of fractional derivatives. One of the most widely used approaches is the Riemann-Liouville operator method. The detail of this method can be found in the following references [16,17]. The work of Sarikaya et al. [18] on the formulation of Hermite-Hadamard inequality, via Riemann-Liouville fractional integral, has fascinated many researchers to contribute to this field. Next, we recall the Sarikaya's inequality as follows.

Theorem 1. Let $\mathcal{G} : [m, n] \rightarrow \mathbb{R}$ be a positive function with $0 \leq m < n$ and $\mathcal{G} \in L[m, n]$. If $\mathcal{G}$ is a convex function on $[m, n]$, then the following inequalities hold

$$\mathcal{G}\left(\frac{m+n}{2}\right) \leq \frac{\Gamma(\lambda+1)}{2(n-m)^\lambda} \left[J_{m+}^\lambda \mathcal{G}(n) + J_{n-}^\lambda \mathcal{G}(m) \right] \leq \frac{\mathcal{G}(m) + \mathcal{G}(n)}{2} \quad (2)$$

with $\lambda > 0$. Where the Riemann-Liouville integrals $J_{m+}^\lambda \mathcal{G}$ and $J_{n-}^\lambda \mathcal{G}$ of order $\lambda \in \mathbb{R}_+$ are defined by

$$J_{m+}^\lambda \mathcal{G}(x) = \frac{1}{\Gamma(\lambda)} \int_m^x (x-\vartheta)^{\lambda-1} \mathcal{G}(\vartheta) d\vartheta, \quad x > m,$$

and

$$J_{n-}^\lambda \mathcal{G}(x) = \frac{1}{\Gamma(\lambda)} \int_x^n (\vartheta-x)^{\lambda-1} \mathcal{G}(\vartheta) d\vartheta, \quad x < n,$$

respectively.

Using the above approach, many new inequalities have been obtained and reported in the literature. For example, an important theorem was established through the Riemann-Liouville fractional calculus and reported in [19] as follows.

Theorem 2. Suppose that $\mathcal{G} : [m, n] \rightarrow \mathbb{R}$ is a differentiable function on (m, n) , where $m < n$. If $|\mathcal{G}'|$ is convex on $[m, n]$, then the following inequality holds:

$$\begin{aligned} & \left| \frac{\Gamma(\lambda+1)}{2(n-m)^\lambda} \left[J_{m+}^\lambda \mathcal{G}(n) + J_{n-}^\lambda \mathcal{G}(m) \right] - \mathcal{G}\left(\frac{m+n}{2}\right) \right| \\ & \leq \frac{n-m}{4(\lambda+1)} \left(\lambda + 3 - \frac{1}{2^{\lambda-1}} \right) \left[|\mathcal{G}'(m)| + |\mathcal{G}'(n)| \right]. \end{aligned} \quad (3)$$

Other similar improvements on Hermite-Hadamard type inequalities, including an introduction to generalized convex function on fractal sets, can be seen in [20]. For example, a very new study was carried out on the improvement of Hermite-Hadamard type inequalities via generalized convex functions on fractal set, see [21], and we provide the definition of this concept as

Definition 2. Let $\mathcal{G} : V \subset \mathbb{R} \rightarrow \mathbb{R}^\alpha$ ($0 < \alpha \leq 1$). If the following inequality

$$\mathcal{G}(\vartheta m + (1-\vartheta)n) \leq \vartheta^\alpha \mathcal{G}(m) + (1-\vartheta)^\alpha \mathcal{G}(n) \quad (4)$$

holds for any $m, n \in V$ and $\vartheta \in [0, 1]$, then $\mathcal{G}$ is called a generalized convex on V .

The Riemann-Liouville fractional integral, along the Hadamard's fractional integral that possesses a symmetric property given in [22], is a generalized through the recent work of Katugampola. These two integrals were combined and given in a single form (see [23,24]).

Definition 3. Let $[m, n] \subset \mathbb{R}$ be a finite interval. Then, the left-and right-sided Katugampola fractional integrals of order $\lambda > 0$ for $\mathcal{G} \in X_c^p(m, n)$ are defined by

$${}^{\rho}I_{m+}^{\lambda} \mathcal{G}(x) = \frac{\rho^{1-\lambda}}{\Gamma(\lambda)} \int_m^x \frac{\vartheta^{\rho-1}}{(x^{\rho} - \vartheta^{\rho})^{1-\lambda}} \mathcal{G}(\vartheta) d\vartheta \quad \text{and} \quad {}^{\rho}I_{n-}^{\lambda} \mathcal{G}(x) = \frac{\rho^{1-\lambda}}{\Gamma(\lambda)} \int_x^n \frac{\vartheta^{\rho-1}}{(\vartheta^{\rho} - x^{\rho})^{1-\lambda}} \mathcal{G}(\vartheta) d\vartheta,$$

with $m < x < n$, $\rho > 0$. Given the space of complex-valued Lebesgue measurable function ω as $X_c^p(m, n)$ ($c \in \mathbb{R}$, $1 \leq p \leq \infty$), we define the norm of the function on $[m, n]$ as follows

$$\|\mathcal{G}\|_{X_c^p} = \left(\int_m^n |\vartheta^c \mathcal{G}(\vartheta)|^p \frac{d\vartheta}{\vartheta} \right)^{1/p} < \infty,$$

whereby $1 \leq p < \infty$, $c \in \mathbb{R}$. If $p = \infty$, we obtain

$$\|\mathcal{G}\|_{X_c^{\infty}} = \text{ess sup}_{m \leq \vartheta \leq n} [\vartheta^c |\mathcal{G}(\vartheta)|].$$

Other related works including the generalization of Hermite-Hadamard inequality for Katugampola fractional integrals [25], given in the following lemma, as well as the theorem that follows immediately.

Lemma 1. Let $\mathcal{G} : [m^{\rho}, n^{\rho}] \rightarrow \mathbb{R}$ be a differentiable mapping on (m^{ρ}, n^{ρ}) , with $0 \leq m < n$. If the fractional integrals exist, we obtain the following equality,

$$\begin{aligned} \frac{\mathcal{G}(m^{\rho}) + \mathcal{G}(n^{\rho})}{2} - \frac{\lambda \rho^{\lambda} \Gamma(\lambda + 1)}{2(n^{\rho} - m^{\rho})^{\lambda}} \left[{}^{\rho}I_{m+}^{\lambda} \mathcal{G}(n^{\rho}) + {}^{\rho}I_{n-}^{\lambda} \mathcal{G}(m^{\rho}) \right] &= \frac{n^{\rho} - m^{\rho}}{2} \int_0^1 \left[(1 - \vartheta^{\rho})^{\lambda} - \vartheta^{\rho\lambda} \right] \vartheta^{\rho-1} \\ &\times \mathcal{G}'(\vartheta^{\rho} m^{\rho} + (1 - \vartheta^{\rho}) n^{\rho}) d\vartheta. \end{aligned} \quad (5)$$

Theorem 3. Let $\lambda > 0$ and $\rho > 0$. Let $\mathcal{G} : [m^{\rho}, n^{\rho}] \rightarrow \mathbb{R}$ be a non-negative function with $0 \leq m < n$ and $\mathcal{G} \in X_c^p(m^{\rho}, n^{\rho})$. If $\mathcal{G}$ is also a convex function on $[m, n]$, then we have

$$\mathcal{G} \left(\frac{m^{\rho} + n^{\rho}}{2} \right) \leq \frac{\rho^{\lambda} \Gamma(\lambda + 1)}{2(n^{\rho} - m^{\rho})^{\lambda}} \left[{}^{\rho}I_{m+}^{\lambda} \mathcal{G}(n^{\rho}) + {}^{\rho}I_{n-}^{\lambda} \mathcal{G}(m^{\rho}) \right] \leq \frac{\mathcal{G}(m^{\rho}) + \mathcal{G}(n^{\rho})}{2}, \quad (6)$$

whereby the fractional integrals are given for the function $\mathcal{G}(x^{\rho})$ and evaluated at m and n , respectively.

Katugampola fractional integrals have many applications in the fields of science and technology, some of which can be found in the following references [26,27]. Therefore, many generalizations of different inequalities are studied via these fractional integrals. For example, Kermausuor [28] and Mumcu et al. [29] generalized Ostrowski-type and Hermite-Hadamard type inequalities for harmonically convex functions, respectively. Tekin et al. [30] proposed Hermite-Hadamard inequality for p -convex functions for Katugampola fractional integrals. Other inequalities generalized via Katugampola fractional integrals include Grüss inequality, [31,32] and Lyapunov inequality [33].

Therefore, the aim of this paper is to generalize the Hermite-Hadamard inequality for generalized convex functions on fractal sets via Katugampola fractional integrals. This can be the generalization of the work of Chen and Katugampola [25], who proposed the inequality stated in Theorem 3. Another objective of this study is to define a new identity for generalized fractional integrals, through which

generalized Hermite-Hadamard type inequalities for convex function are derived. The trapezoid and mid-point type inequalities are also proposed for the generalized convex function involving Katugampola fractional integrals, which would generalize the Riemann-Liouville and the Hadamard integrals into a single form.

2. New Generalized Fractional Integrals Identity and New Integral Inequality for Katugampola Fractional Integrals

In order to improve the identity established in [19] for generalized fractional integrals, the following lemma can be used to prove our results.

Lemma 2. Let $\mathcal{G} : [m^\rho, n^\rho] \rightarrow \mathbb{R}$ be a differentiable mapping on (m^ρ, n^ρ) , where $m < n$. The following equality holds if the fractional integrals exist,

$$\begin{aligned} & \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} [\rho J_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho J_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \\ &= \frac{n^\rho - m^\rho}{2} \left[\int_0^1 M \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta - \int_0^1 [(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \right], \end{aligned} \quad (7)$$

where

$$M = \begin{cases} \vartheta^{\rho-1}, & 0 \leq \vartheta < \frac{1}{\rho\sqrt{2}} \\ -\vartheta^{\rho-1}, & \frac{1}{\rho\sqrt{2}} \leq \vartheta < 1. \end{cases}$$

Proof. It suffices to note that

$$\begin{aligned} I &= \left[\int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \right] + \left[- \int_{\frac{1}{\rho\sqrt{2}}}^1 \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \right] \\ &+ \left[- \int_0^1 [(1 - \vartheta^\rho)^\lambda] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \right] + \left[\int_0^1 [\vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \right] \\ &= I_1 + I_2 + I_3 + I_4. \end{aligned} \quad (8)$$

Integrating by parts, we get I_1 and I_2 as follows,

$$\begin{aligned} I_1 &= \int_0^{\frac{1}{\rho\sqrt{2}}} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta = \frac{1}{m^\rho - n^\rho} \mathcal{G}(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) \Big|_0^{\frac{1}{\rho\sqrt{2}}} \\ &= \frac{1}{\rho(n^\rho - m^\rho)} \left[-\mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) + \mathcal{G}(n^\rho) \right], \end{aligned} \quad (9)$$

$$\begin{aligned} I_2 &= - \int_{\frac{1}{\rho\sqrt{2}}}^1 \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta = \frac{-1}{m^\rho - n^\rho} \mathcal{G}(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) \Big|_{\frac{1}{\rho\sqrt{2}}}^1 \\ &= \frac{1}{n^\rho - m^\rho} \left[\mathcal{G}(m^\rho) - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right]. \end{aligned} \quad (10)$$

Set $x^\rho = \vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho$ for calculating I_3 and I_4 ,

$$\begin{aligned}
I_3 &= - \int_0^1 (1 - \vartheta^\rho)^\lambda \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \\
&= - \frac{(1 - \vartheta^\rho)^\lambda}{m^\rho - n^\rho} \mathcal{G}(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) \Big|_0^1 - \frac{\lambda}{m^\rho - n^\rho} \int_0^1 (1 - \vartheta^\rho)^{\lambda-1} \mathcal{G}(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta \\
&= - \frac{\mathcal{G}(n^\rho)}{n^\rho - m^\rho} + \frac{\lambda}{n^\rho - m^\rho} \int_{n^\rho}^{m^\rho} \left(\frac{x^\rho - m^\rho}{n^\rho - m^\rho} \right)^{\lambda-1} \mathcal{G}(x^\rho) \frac{x^\rho}{m^\rho - n^\rho} dx \\
&= - \frac{\mathcal{G}(n^\rho)}{\rho(n^\rho - m^\rho)} + \frac{\lambda \rho^{\lambda-1} \Gamma(\lambda+1)}{(n^\rho - m^\rho)^{\lambda+1}} I_{n^-}^\lambda \mathcal{G}(m^\rho),
\end{aligned} \tag{11}$$

$$I_4 = - \int_0^1 \vartheta^{\rho\lambda} \cdot \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho) d\vartheta = - \frac{\mathcal{G}(m^\rho)}{\rho(n^\rho - m^\rho)} + \frac{\lambda \rho^{\lambda-1} \Gamma(\lambda+1)}{(n^\rho - m^\rho)^{\lambda+1}} I_{m^+}^\lambda \mathcal{G}(n^\rho). \tag{12}$$

Now substituting inequalities (9), (10), (11) and (12) into (8) completes the proof. $\square$

Remark 1. If $\rho = 1$, then the identity (7) in Lemma 2 reduces to identity (3) in Lemma 2.1 [19].

Using Lemma 2, the following result for differentiable function is obtained.

Theorem 4. Let $\mathcal{G} : [m^\rho, n^\rho] \rightarrow \mathbb{R}$ be a differentiable mapping on (m^ρ, n^ρ) with $0 \leq m < n$. If $|\mathcal{G}'|$ is convex on $[m^\rho, n^\rho]$, then the following inequality holds:

$$\left| \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right| \leq \frac{n^\rho - m^\rho}{4\rho(\lambda+1)} \left[3 + \lambda - \frac{1}{2^{\lambda-1}} \right] [|\mathcal{G}'(m^\rho)| + |\mathcal{G}'(n^\rho)|]. \tag{13}$$

Proof. Using Lemma 2 and the convexity of $|\mathcal{G}'|$, we get

$$\begin{aligned}
&\left| \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right| \\
&\leq \frac{n^\rho - m^\rho}{2} \left[\int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho)| d\vartheta + \int_{\frac{1}{\rho\sqrt{2}}}^1 t^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho)| d\vartheta \right. \\
&\quad \left. + \int_0^1 |(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}| \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho)| d\vartheta \right] \\
&\leq \frac{n^\rho - m^\rho}{2} \left[\int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} [\vartheta^\rho |\mathcal{G}'(m^\rho)| + (1 - \vartheta^\rho) |\mathcal{G}'(n^\rho)|] d\vartheta + \int_{\frac{1}{\rho\sqrt{2}}}^1 \vartheta^{\rho-1} [\vartheta^\rho |\mathcal{G}'(m^\rho)| + (1 - \vartheta^\rho) |\mathcal{G}'(n^\rho)|] d\vartheta \right. \\
&\quad \left. + \int_0^1 |(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}| \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho)| d\vartheta \right].
\end{aligned} \tag{14}$$

Thus,

$$\left| \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right| = \frac{n^\rho - m^\rho}{2} [I_1 + I_2 + I_3], \tag{15}$$

whereby I_1 , I_2 and I_3 are the first, second and third integrals in inequality (14).

When calculating I_1 and I_2 , we get the following

$$I_1 = \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho)n^\rho)| d\vartheta = \frac{1}{\rho 8} |\mathcal{G}'(m^\rho)| + \frac{3}{\rho 8} |\mathcal{G}'(n^\rho)|, \tag{16}$$

$$I_2 = \int_{\frac{1}{\rho\sqrt{2}}}^1 \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho)| = \frac{3}{\rho 8} |\mathcal{G}'(m^\rho)| + \frac{1}{\rho 8} |\mathcal{G}'(n^\rho)|. \quad (17)$$

A similar line of argument for the proof of Theorem 2.5 in [25] can be used to calculate I_3 ,

$$I_3 = \int_0^1 [(1-\vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) d\vartheta = \frac{1}{\rho(\lambda+1)} \left(1 - \frac{1}{2^\lambda}\right) [|\mathcal{G}'(m^\rho)| + |\mathcal{G}'(n^\rho)|]. \quad (18)$$

Submitting inequalities (16), (17) and (18) in (15), we get (13). This completes the proof. $\square$

Remark 2. i. Choosing $\rho = 1$ in Theorem 4 reduces inequality (13) to inequality (3) of Theorem 2.

ii. Choosing $\rho = 1$ and $\lambda = 1$ reduces inequality (13) to inequality (16) in [19], which is given as follows

$$\left| \frac{1}{n-m} \int_m^n \mathcal{G}(x) dx - \mathcal{G}\left(\frac{m+n}{2}\right) \right| \leq \frac{3(n-m)}{8} (|\mathcal{G}'(m)| + |\mathcal{G}'(n)|).$$

3. Generalized Hermite-Hadamard Inequality and Related Integral Inequalities for Katugampola Fractional Integral on Fractal Sets

The following theorem generalizes the result obtained by [25] of the Hermite-Hadamard inequality involving the Katugampola fractional integrals for generalized convex function on fractal sets.

Theorem 5. Suppose that $\mathcal{G} : [m^\rho, n^\rho] \subset \mathbb{R}_+ \rightarrow \mathbb{R}^\alpha$ ($0 < \alpha \leq 1$) is a positive function with $0 \leq m < n$ and $\mathcal{G} \in X_c^\rho(m^\rho, n^\rho)$ for $\lambda > 0$ and $\rho > 0$. If $\mathcal{G}$ is a generalized convex function on $[m^\rho, n^\rho]$, then we obtain

$$\begin{aligned} \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) &\leq \frac{\rho^\lambda \Gamma(\lambda+1)}{2^\alpha (n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \\ &\leq \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2^\alpha}. \end{aligned} \quad (19)$$

Proof. Suppose that $x, y \in [m, n]$, $\lambda > 0$, defined by $x^\rho = \vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho$ and $y^\rho = \vartheta^\rho n^\rho + (1-\vartheta^\rho)m^\rho$, where $\vartheta \in [0, 1]$. Since $\mathcal{G}$ is generalized convex function, we have

$$2^\alpha \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \leq \mathcal{G}(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) + \mathcal{G}(\vartheta^\rho n^\rho + (1-\vartheta^\rho)m^\rho). \quad (20)$$

Multiplying both sides of the inequality (20) by $\vartheta^{\lambda\rho-1}$, for $\lambda > 0$ and then integrating over $[0, 1]$ with respect to ϑ , we obtain the following

$$\begin{aligned} \frac{2^\alpha}{\lambda\rho} \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) &\leq \int_0^1 \vartheta^{\lambda\rho-1} \mathcal{G}(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) d\vartheta + \int_0^1 \vartheta^{\lambda\rho-1} \mathcal{G}(\vartheta^\rho n^\rho + (1-\vartheta^\rho)m^\rho) d\vartheta \\ &= \int_n^m \left(\frac{n^\rho - x^\rho}{n^\rho - m^\rho}\right)^{\lambda-1} \mathcal{G}(x^\rho) \frac{x^{\rho-1}}{m^\rho - n^\rho} dx \\ &\quad + \int_m^n \left(\frac{y^\rho - m^\rho}{n^\rho - m^\rho}\right)^{\lambda-1} \mathcal{G}(y^\rho) \frac{y^{\rho-1}}{n^\rho - m^\rho} dy \\ &= \frac{\rho^{\lambda-1} \Gamma(\lambda)}{(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right]. \end{aligned} \quad (21)$$

This establishes the first inequality. When proving the second inequality (19), we first observe generalized convex functions $\mathcal{G}$, which is given as

$$\mathcal{G}(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) \leq (\vartheta^\rho)^\alpha \mathcal{G}(m^\rho) + (1-\vartheta^\rho)^\alpha \mathcal{G}(n^\rho), \quad (22)$$

and

$$\mathcal{G}(\vartheta^\rho n^\rho + (1 - \vartheta^\rho) m^\rho) \leq (\vartheta^\rho)^\alpha \mathcal{G}(n^\rho) + (1 - \vartheta^\rho)^\alpha \mathcal{G}(m^\rho). \quad (23)$$

Summing the above inequalities, we have

$$\mathcal{G}(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) + \mathcal{G}(\vartheta^\rho n^\rho + (1 - \vartheta^\rho) m^\rho) \leq \mathcal{G}(m^\rho) + \mathcal{G}(n^\rho). \quad (24)$$

Multiplying both sides of inequality (24) by $\vartheta^{\lambda\rho-1}$, for $\lambda > 0$ and integrating the result over $[0, 1]$ with respect to ϑ , we obtain

$$\frac{\rho^{\lambda-1}\Gamma(\lambda)}{(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \leq \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{\lambda\rho}. \quad (25)$$

This completes the proof. $\square$

Remark 3. Taking $\alpha = 1$ in inequality (19) of Theorem 5 reduces the result to inequality (6) of Theorem 3.

Now, we derive the mid-point type inequalities via generalized convex functions on the fractal set for the Katugampola fractional integral. Therefore, the definition of generalized beta function is given as follows

$$\beta_\rho(m, n) = \int_0^1 \rho (1 - x^\rho)^{n-1} (x^\rho)^{m-1} x^{\rho-1} dx.$$

Note that, as $\rho \rightarrow 1$, $\beta_\rho(m, n) \rightarrow \beta(m, n)$.

Theorem 6. Suppose that $\lambda > 0$ and $\rho > 0$. Let $\mathcal{G} : [m^\rho, n^\rho] \subset \mathbb{R}_+ \rightarrow \mathbb{R}^\alpha$ ($0 < \alpha \leq 1$) be a differentiable function on (m^ρ, n^ρ) , and $\mathcal{G}' \in L^1[m, n]$ with $0 \leq m < n$. If $|\mathcal{G}'|^q$ is generalized convex on $[m^\rho, n^\rho]$, we obtain

$$\left| \frac{\lambda\rho^\lambda\Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right| \leq \frac{n^\rho - m^\rho}{2} \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} \right] [|\mathcal{G}'(m^\rho)| + |\mathcal{G}'(n^\rho)|]. \quad (26)$$

Proof. From Lemma 2, we have

$$\begin{aligned} & \left| \frac{\lambda\rho^\lambda\Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right| \\ & \leq \frac{n^\rho - m^\rho}{2} \left| \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} [\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)] d\vartheta + \int_{\frac{1}{\rho\sqrt{2}}}^1 \vartheta^{\rho-1} [\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)] d\vartheta \right. \\ & \quad \left. - \int_0^1 [(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) d\vartheta \right| \\ & \leq \frac{n^\rho - m^\rho}{2} \left| \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} [\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)] d\vartheta + \int_{\frac{1}{\rho\sqrt{2}}}^1 t^{\rho-1} [\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)] d\vartheta \right| \\ & + \left| \int_0^1 [(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) d\vartheta \right|. \end{aligned} \quad (27)$$

Using the fact that the function $|\mathcal{G}'|$ is generalized convex on $[m^\rho, n^\rho]$, we obtain the following

$$\begin{aligned} \left| \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} [\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)] d\vartheta \right| & \leq \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} [\vartheta^{\rho\alpha} |\mathcal{G}'(m^\rho)| + (1 - \vartheta^\rho)^\alpha |\mathcal{G}'(n^\rho)|] d\vartheta \\ & \leq |\mathcal{G}'(m^\rho)| \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho\alpha+\rho-1} d\vartheta + |\mathcal{G}'(n^\rho)| \int_0^{\frac{1}{\rho\sqrt{2}}} \vartheta^{\rho-1} (1 - \vartheta^\rho)^\alpha d\vartheta \\ & = |\mathcal{G}'(m^\rho)| \left[\frac{1}{2^{\alpha+1}\rho(\alpha+1)} \right] + |\mathcal{G}'(n^\rho)| \left[\frac{2^{\alpha+1} - 1}{2^{\alpha+1}\rho(\alpha+1)} \right]. \end{aligned} \quad (28)$$

In the same way, we have

$$\left| \int_{\frac{1}{\rho\sqrt{2}}}^1 \vartheta^{\rho-1} [\mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho)] d\vartheta \right| \leq |\mathcal{G}'(m^\rho)| \left[\frac{2^{\alpha+1}-1}{2^{\alpha+1}\rho(\alpha+1)} \right] + |\mathcal{G}'(n^\rho)| \left[\frac{1}{2^{\alpha+1}\rho(\alpha+1)} \right] \quad (29)$$

and

$$\begin{aligned} \left| \int_0^1 [(1-\vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) d\vartheta \right| &\leq \int_0^1 [(1-\vartheta^\rho)^\lambda + (\vartheta^\rho)^\lambda] \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho)| d\vartheta \\ &\leq |\mathcal{G}'(m^\rho)| \int_0^1 [\vartheta^{\rho-1}(\vartheta^\rho)^\alpha (1-\vartheta^\rho)^\lambda + \vartheta^{\rho-1}(\vartheta^\rho)^\alpha (\vartheta^\rho)^\lambda] d\vartheta \\ &\quad + |\mathcal{G}'(n^\rho)| \int_0^1 [\vartheta^{\rho-1}(1-\vartheta^\rho)^\lambda (1-\vartheta^\rho)^\alpha + \vartheta^{\rho-1}(\vartheta^\rho)^\lambda (1-\vartheta^\rho)^\alpha] d\vartheta \quad (30) \\ &\leq |\mathcal{G}'(m^\rho)| \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right] \\ &\quad + |\mathcal{G}'(n^\rho)| \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right]. \end{aligned}$$

Substituting inequalities (28), (29) and (30) in (27), we deduce the inequality (26). $\square$

The following corollary is derived to show the estimates of the difference between mid-point-type and the integral of $\mathcal{G}$ on $[m^\rho, n^\rho]$ when $\lambda = \alpha = \frac{2}{3}$.

Corollary 1. In Theorem 6, if we take $\lambda = \alpha = \frac{2}{3}$ in inequality (26), we have

$$\left| \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] - \mathcal{G}\left(\frac{m^\rho + n^\rho}{2}\right) \right| \leq \frac{(n^\rho - m^\rho) \beta_\rho(\frac{5}{3}, \frac{5}{3})}{\rho} \left[\frac{|\mathcal{G}'(m^\rho)| + |\mathcal{G}'(n^\rho)|}{2} \right].$$

The trapezoid-type inequalities via generalized convex function on fractal sets for Katugampola fractional integrals can be derived using Lemma 1.

Theorem 7. Suppose that $\lambda > 0$ and $\rho > 0$. Let $\mathcal{G} : [m^\rho, n^\rho] \subset \mathbb{R}_+ \rightarrow \mathbb{R}^\alpha$ ($0 < \alpha \leq 1$) be a differentiable function on (m^ρ, n^ρ) , and $\mathcal{G}' \in L^1[m, n]$ with $0 \leq m < n$. If $|\mathcal{G}'|^q$ is generalized convex on $[m^\rho, n^\rho]$ for $q \geq 1$, we obtain

$$\begin{aligned} \left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] \right| &\leq \frac{n^\rho - m^\rho}{2} \left(\frac{1}{\rho(\lambda+1)} \right)^{1-\frac{1}{q}} \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right]^{\frac{1}{q}} \\ &\quad \times \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}. \quad (31) \end{aligned}$$

Proof. From Lemma 1, we have

$$\begin{aligned} \left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] \right| &\leq \frac{n^\rho - m^\rho}{2} \left| \int_0^1 [(1-\vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \right. \\ &\quad \times \mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) d\vartheta \Big|. \quad (32) \end{aligned}$$

In the first case, suppose that $q = 1$. Since the function $|\mathcal{G}'|$ is generalized convex on $[m^\rho, n^\rho]$, we have

$$\mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) \leq (\vartheta^\rho)^\alpha |\mathcal{G}'(m^\rho)| + (1-\vartheta^\rho)^\alpha |\mathcal{G}'(n^\rho)|.$$

Therefore,

$$\begin{aligned}
 \left| \int_0^1 [(1-\vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) d\vartheta \right| &\leq \int_0^1 [(1-\vartheta^\rho)^\lambda + \vartheta^{\rho\lambda}] \vartheta^{\rho-1} [(\vartheta^\rho)^\alpha |\mathcal{G}'(m^\rho)| + (1-\vartheta^\rho)^\alpha |\mathcal{G}'(n^\rho)|] d\vartheta \\
 &\leq |\mathcal{G}'(m^\rho)| \int_0^1 [\vartheta^{\rho-1} (\vartheta^\rho)^\alpha (1-\vartheta^\rho)^\lambda + \vartheta^{\rho-1} (\vartheta^\rho)^\alpha (\vartheta^\rho)^\lambda] d\vartheta \\
 &\quad + |\mathcal{G}'(n^\rho)| \int_0^1 [\vartheta^{\rho-1} (1-\vartheta^\rho)^\lambda (1-\vartheta^\rho)^\alpha + \vartheta^{\rho-1} (\vartheta^\rho)^\lambda (1-\vartheta^\rho)^\alpha] d\vartheta \\
 &\leq |\mathcal{G}'(m^\rho)| \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right] \\
 &\quad + |\mathcal{G}'(n^\rho)| \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right].
 \end{aligned}$$

Hence, the inequalities (32) and (33) complete the proof.

The second case can be evaluated when $q > 1$. Using the Hölder's inequality and generalized convexity of $|\mathcal{G}'|$, for $p = \frac{q}{q-1}$, we obtain

$$\begin{aligned}
 \left| \int_0^1 [(1-\vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho) d\vartheta \right| &\leq \left(\int_0^1 [(1-\vartheta^\rho)^\lambda + (\vartheta^\rho)^\lambda] \vartheta^{\rho-1} d\vartheta \right)^{1-\frac{1}{q}} \\
 &\quad \times \left(\int_0^1 [(1-\vartheta^\rho)^\lambda + (\vartheta^\rho)^\lambda] \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1-\vartheta^\rho)n^\rho)|^q d\vartheta \right)^{\frac{1}{q}} \\
 &\leq \left(\int_0^1 [(1-\vartheta^\rho)^\lambda + (\vartheta^\rho)^\lambda] \vartheta^{\rho-1} d\vartheta \right)^{1-\frac{1}{q}} \\
 &\quad \times \left(|\mathcal{G}'(m^\rho)|^q \int_0^1 [\vartheta^{\rho-1} (\vartheta^\rho)^\alpha (1-\vartheta^\rho)^\lambda + \vartheta^{\rho-1} (\vartheta^\rho)^\lambda (\vartheta^\rho)^\alpha] d\vartheta \right. \\
 &\quad \left. + |\mathcal{G}'(n^\rho)|^q \int_0^1 [\vartheta^{\rho-1} (1-\vartheta^\rho)^\lambda (1-\vartheta^\rho)^\alpha + \vartheta^{\rho-1} (\vartheta^\rho)^\lambda (1-\vartheta^\rho)^\alpha] d\vartheta \right)^{\frac{1}{q}} \\
 &\leq \left(\frac{1}{\rho(\lambda+1)} \right)^{1-\frac{1}{q}} \\
 &\quad \times \left(|\mathcal{G}'(m^\rho)|^q \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right] \right. \\
 &\quad \left. + |\mathcal{G}'(n^\rho)|^q \left[\frac{\beta_\rho(\lambda+1, \alpha+1)}{\rho} + \frac{1}{\rho(\lambda+\alpha+1)} \right] \right)^{\frac{1}{q}}.
 \end{aligned} \tag{33}$$

The inequalities (32) and (33) complete the proof. $\square$

Other special cases related to Theorem 7 are stated in the following corollary. This would estimate the difference between trapezoid-type and the integral of $\mathcal{G}$

Corollary 2. Consider inequality (31) of the Theorem 7,

1. If $\lambda = \alpha = \frac{1}{3}$ and $\rho = 1$, we have the trapezoid inequality:

$$\begin{aligned}
 \left| \frac{\mathcal{G}(m) + \mathcal{G}(n)}{2} - \frac{\lambda \Gamma(\lambda+1)}{2(n-m)^\lambda} [I_{m^+}^\lambda \mathcal{G}(n) + I_{n^-}^\lambda \mathcal{G}(m)] \right| &\leq \frac{n-m}{2} \left(\frac{3}{4} \right)^{1-\frac{1}{q}} \left[\beta \left(\frac{4}{3}, \frac{4}{3} \right) + \frac{3}{5} \right]^{\frac{1}{q}} \\
 &\quad \times \left(|\mathcal{G}'(m)|^q + |\mathcal{G}'(n)|^q \right)^{\frac{1}{q}}.
 \end{aligned} \tag{34}$$

2. For $\lambda = \alpha = \frac{3}{5}$, we have

$$\begin{aligned}
 \left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda+1)}{2(n^\rho - m^\rho)^\lambda} [\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + \rho I_{n^-}^\lambda \mathcal{G}(m^\rho)] \right| &\leq \frac{n^\rho - m^\rho}{2} \left(\frac{5}{8\rho} \right)^{1-\frac{1}{q}} \left[\frac{\beta_\rho(\frac{8}{5}, \frac{8}{5})}{\rho} + \frac{5}{11\rho} \right]^{\frac{1}{q}} \\
 &\quad \times \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}.
 \end{aligned} \tag{35}$$

Theorem 8. Let $\lambda > 0$ and $\rho > 0$. Let $\mathcal{G} : [m^\rho, n^\rho] \subset \mathbb{R}_+ \rightarrow \mathbb{R}^\alpha$ ($0 < \alpha \leq 1$) be a differentiable function on (m^ρ, n^ρ) , and $\mathcal{G}' \in L^1[m, n]$ with $0 \leq a < b$. If $|\mathcal{G}'|^q$ is generalized convex on $[m^\rho, n^\rho]$ for $q \geq 1$, we obtain

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \frac{n^\rho - m^\rho}{2} \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \times \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}. \quad (36)$$

Proof. From Lemma 1, we have

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \frac{n^\rho - m^\rho}{2} \left| \int_0^1 [(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) d\vartheta \right|. \quad (37)$$

Using the Hölder's inequality and generalized convexity of $|\mathcal{G}'|$, we obtain

$$\begin{aligned} \left| \int_0^1 [(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) d\vartheta \right| &\leq \left(\int_0^1 (\vartheta^{\rho-1})^p d\vartheta \right)^{\frac{1}{p}} \\ &\times \left(\int_0^1 [(1 - \vartheta^\rho)^\lambda + (\vartheta^\rho)^\lambda] \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)|^q d\vartheta \right)^{\frac{1}{q}} \\ &\leq \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \\ &\times \left(|\mathcal{G}'(m^\rho)|^q \int_0^1 [\vartheta^{\rho-1} (\vartheta^\rho)^\alpha (1 - \vartheta^\rho)^\lambda + \vartheta^{\rho-1} (\vartheta^\rho)^\lambda (\vartheta^\rho)^\alpha] d\vartheta \right. \\ &\quad \left. + |\mathcal{G}'(n^\rho)|^q \int_0^1 [\vartheta^{\rho-1} (1 - \vartheta^\rho)^\alpha (1 - \vartheta^\rho)^\lambda + \vartheta^{\rho-1} (\vartheta^\rho)^\lambda (1 - \vartheta^\rho)^\alpha] d\vartheta \right)^{\frac{1}{q}} \\ &\leq \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \\ &\times \left(|\mathcal{G}'(m^\rho)|^q \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right] \right. \\ &\quad \left. + |\mathcal{G}'(n^\rho)|^q \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right] \right)^{\frac{1}{q}}. \end{aligned}$$

□

In order to simplify Theorem 8, we consider some special cases related to inequality (36), when $\lambda = \alpha = \frac{1}{2}$ and $\lambda = \alpha = \frac{4}{9}$.

Corollary 3. Considering inequality (36) of Theorem 8, we have the following trapezoid inequality

1. For $\lambda = \alpha = \frac{1}{2}$, we get

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \frac{n^\rho - m^\rho}{2} \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \times \left[\frac{\beta_\rho(\frac{3}{2}, \frac{3}{2})}{\rho} + \frac{1}{2\rho} \right]^{\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}.$$

2. If $\lambda = \alpha = \frac{4}{9}$, we have

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \frac{n^\rho - m^\rho}{2} \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \times \left[\frac{\beta_\rho(\frac{13}{9}, \frac{13}{9})}{\rho} + \frac{9}{7\rho} \right]^{\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}.$$

Theorem 9. Let $\lambda > 0$ and $\rho > 0$. Let $\mathcal{G} : [m^\rho, n^\rho] \subset \mathbb{R}_+ \rightarrow \mathbb{R}^\alpha$ ($0 < \alpha \leq 1$) be a differentiable function on (m^ρ, n^ρ) , and $\mathcal{G}' \in L^1[m, n]$ with $0 \leq m < n$. If $|\mathcal{G}'|^q$ is generalized convex on $[m^\rho, n^\rho]$ for $q \geq 1$, we obtain

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \frac{n^\rho - m^\rho}{2} \left(\frac{1}{\rho} \right)^{1-\frac{1}{q}} \times \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}. \quad (38)$$

Proof. Using the fact $|\mathcal{G}'|^q$, a generalized convex on $[m^\rho, n^\rho]$ with $q \geq 1$, we obtain

$$\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) \leq (\vartheta^\rho)^\alpha \mathcal{G}'(m^\rho) + (1 - \vartheta^\rho)^\alpha \mathcal{G}'(n^\rho). \quad (39)$$

Applying inequality (39), together with the power mean inequality, on (37), we have

$$\begin{aligned} \left| \int_0^1 [(1 - \vartheta^\rho)^\lambda - \vartheta^{\rho\lambda}] \vartheta^{\rho-1} \mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho) d\vartheta \right| &\leq \left(\int_0^1 \vartheta^{\rho-1} d\vartheta \right)^{1-\frac{1}{q}} \\ &\times \left(\int_0^1 [(1 - \vartheta^\rho)^\lambda + (\vartheta^\rho)^\lambda] \vartheta^{\rho-1} |\mathcal{G}'(\vartheta^\rho m^\rho + (1 - \vartheta^\rho) n^\rho)|^q d\vartheta \right)^{\frac{1}{q}} \\ &\leq \left(\frac{1}{\rho} \right)^{1-\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q \int_0^1 [\vartheta^{\rho-1} (\vartheta^\rho)^\alpha (1 - \vartheta^\rho)^\lambda + \vartheta^{\rho-1} (\vartheta^\rho)^\alpha (\vartheta^\rho)^\lambda] d\vartheta \right. \\ &\quad \left. + |\mathcal{G}'(n^\rho)|^q \int_0^1 [\vartheta^{\rho-1} (1 - \vartheta^\rho)^\alpha (1 - \vartheta^\rho)^\lambda + \vartheta^{\rho-1} (\vartheta^\rho)^\alpha (1 - \vartheta^\rho)^\lambda] d\vartheta \right)^{\frac{1}{q}} \\ &\leq \left(\frac{1}{\rho} \right)^{1-\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right] \right. \\ &\quad \left. + |\mathcal{G}'(n^\rho)|^q \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right] \right)^{\frac{1}{q}}. \end{aligned}$$

□

The following corollary is given to simplify inequality (38) in Theorem (9)

Corollary 4. Considering inequality (38) of Theorem 9, for $\lambda = \alpha = \frac{3}{7}$, we get

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \frac{n^\rho - m^\rho}{2} \left(\frac{1}{\rho} \right)^{1-\frac{1}{q}} \times \left[\frac{\beta_\rho(\frac{10}{3}, \frac{10}{3})}{\rho} + \frac{7}{13\rho} \right]^{\frac{1}{q}} \left(|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q \right)^{\frac{1}{q}}.$$

Corollary 5. From Theorems 7, 8 and 9 for $q > 1$, we obtain the following:

$$\left| \frac{\mathcal{G}(m^\rho) + \mathcal{G}(n^\rho)}{2} - \frac{\lambda \rho^\lambda \Gamma(\alpha + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda \mathcal{G}(n^\rho) + {}^\rho I_{n^-}^\lambda \mathcal{G}(m^\rho) \right] \right| \leq \min\{S_1, S_2, S_3\} \frac{n^\rho - m^\rho}{2},$$

where,

$$\begin{aligned} S_1 &= \left(\frac{1}{\rho(\lambda + 1)} \right)^{1-\frac{1}{q}} \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} (|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q)^{\frac{1}{q}}, \\ S_2 &= \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} (|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q)^{\frac{1}{q}}, \end{aligned}$$

and

$$S_3 = \left(\frac{1}{\rho} \right)^{1-\frac{1}{q}} \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} (|\mathcal{G}'(m^\rho)|^q + |\mathcal{G}'(n^\rho)|^q)^{\frac{1}{q}}.$$

4. Applications to Special Means

In this section, some generalized inequalities connected to the special means are obtained to serve as an application of our results, as in [2]. Thus,

i. The arithmetic mean:

$$A(m, n) = \frac{m+n}{2} ; m, n \in \mathbb{R}, \text{ with } m, n > 0.$$

ii. The generalized log-mean:

$$L_i(m, n) = \left[\frac{n^{i+1} - m^{i+1}}{(i+1)(n-m)} \right]^{\frac{1}{i}} ; i \in \mathbb{Z} \setminus \{-1, 0\}, m, n \in \mathbb{R}, \text{ with } m, n > 0.$$

Proposition 1. Let $i \in \mathbb{Z}$, $|i| \geq 2$ and $m, n \in \mathbb{R}$ where $0 < m < n$. For $\rho > 0$, $\lambda > 0$, $0 < \alpha < 1$ and $q \geq 1$, we obtain the following:

$$\left| A(m^i, n^i) - L_i^i(m, n) \right| \leq \frac{|i|(n-m)}{8} A^{\frac{1}{q}}(|m|^{q(i-1)}, |n|^{q(i-1)}).$$

Proof. Applying $\mathcal{G}(m) = m^i$ in inequality (31) of Theorem 7, we have

$$\left| \frac{m^{\rho i} + n^{\rho i}}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda (n^{i\rho}) + {}^\rho I_{n^-}^\lambda (m^{i\rho}) \right] \right| \leq \frac{i(n^\rho - m^\rho)}{2} \left(\frac{1}{\rho(\lambda + 1)} \right)^{1-\frac{1}{q}} \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} \times (|m^\rho|^{q(i-1)} + |n^\rho|^{q(i-1)})^{\frac{1}{q}}. \quad (40)$$

Choosing $\rho = 1$, $\alpha = 1$ and $\lambda = 1$, in inequality (40) gives the required result. $\square$

Proposition 2. Let $m, n \in \mathbb{R}$ where $0 < m < n$. For $i \in \mathbb{Z}$, $|i| \geq 2$, $\rho > 0$, $\lambda > 0$, $0 < \alpha < 1$ and $q \geq 1$, we obtain the following:

$$\left| A(m^i, n^i) - L_i^i(m, n) \right| \leq \frac{|i|(n-m)}{2} \left(\frac{1}{2} \right)^{\frac{1}{q}} A^{\frac{1}{q}}(|m|^{q(i-1)}, |n|^{q(i-1)}).$$

Proof. From inequality (36) of Theorem 8, when applying $\mathcal{G}(m) = m^i$, we have

$$\left| \frac{m^{\rho i} + n^{\rho i}}{2} - \frac{\lambda \rho^\lambda \Gamma(\lambda + 1)}{2(n^\rho - m^\rho)^\lambda} \left[{}^\rho I_{m^+}^\lambda (n^{i\rho}) + {}^\rho I_{n^-}^\lambda (m^{i\rho}) \right] \right| \leq \frac{i(n^\rho - m^\rho)}{2} \left(\frac{1}{p(\rho - 1) + 1} \right)^{\frac{1}{p}} \times \left[\frac{\beta_\rho(\lambda + 1, \alpha + 1)}{\rho} + \frac{1}{\rho(\lambda + \alpha + 1)} \right]^{\frac{1}{q}} \times (|m^\rho|^{q(i-1)} + |n^\rho|^{q(i-1)})^{\frac{1}{q}}. \quad (41)$$

Considering $\rho = 1$ and $\lambda = \alpha = 1$ in inequality (41) gives the required result. $\square$

5. Conclusions

In this paper, we defined a new identity for the generalized fractional integrals. Connected to this, the new integral inequality for a differentiable convex function is derived. We obtained the generalization of Theorem 2 introduced by Chen and Katugampola. In addition, the trapezoid and mid-point type inequalities are studied, along with generalized Hermite-Hadamard inequality, for Katugampola fractional integrals.

Author Contributions: O.A.; writing—original draft preparation, visualization, A.K.; writing—review and editing, supervision. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Acknowledgments: The authors would like to thank the referees and editor for their very useful comments and remarks that improved the present manuscript substantially.

Conflicts of Interest: The authors declare that there is no conflict of interest.

References

1. Pejčarić, J.E.; Tong, Y.L. *Convex Functions, Partial Orderings, and Statistical Applications*; Academic Press: New York, NY, USA, 1992.
2. Dragomir, S.S.; Pearce, C. Selected topics on Hermite-Hadamard inequalities and applications. *Math. Prepr. Arch.* **2003**, *3*, 463–817.
3. Mehrez, K.; Agarwal, P. New Hermite-Hadamard type integral inequalities for convex functions and their applications. *J. Comput. Appl. Math.* **2019**, *350*, 274–285.
4. Gozpinar, A.; Set, E.; Dragomir, S.S. Some generalized Hermite-Hadamard type inequalities involving fractional integral operator for functions whose second derivatives in absolute value are s -convex. *Acta Math. Univ. Comen.* **2019**, *88*, 87–100.
5. Korus, P. An extension of the Hermite-Hadamard inequality for convex and s -convex functions. *Aequationes Math.* **2019**, *93*, 527–534.
6. Ozcan, S.; Iscan, I. Some new Hermite-Hadamard type inequalities for s -convex functions and their applications. *J. Inequalities Appl.* **2019**, *2019*, 201.
7. Kılıçman, A.; Saleh, W. Some generalized Hermite-Hadamard type integral inequalities for generalized s -convex functions on fractal sets. *Adv. Differ. Equ.* **2015**, *2015*, 1.
8. Almutairi, O.; Kılıçman, A. Integral inequalities for s -convexity via generalized fractional integrals on fractal sets. *Mathematics* **2020**, *8*, 53.
9. Almutairi, O.; Kılıçman, A. New fractional inequalities of midpoint type via s -convexity and their applications. *J. Inequalities Appl.* **2019**, *2019*, 1–19.
10. Dragomir, S.S. Symmetrized convexity and Hermite-Hadamard type inequalities. *J. Math. Inequalities* **2016**, *10*, 901–918.
11. Dragomir, S.S. Inequalities of Hermite-Hadamard type for functions of selfadjoint operators and matrices. *J. Math. Inequalities* **2017**, *11*, 241–259.
12. Prabseang, J.; Nonlaopon, K.; Tariboon, J. Quantum Hermite-Hadamard inequalities for double integral and q -differentiable convex functions. *J. Math. Inequalities* **2019**, *13*, 675–686.
13. Dragomir, S.S.; Torebek, B.T. Some Hermite-Hadamard type inequalities in the class of hyperbolic p -convex functions. *Rev. De La Real Acad. De Cienc. Exactas Fis. Y Naturales. Ser. A. Mat.* **2019**, *113*, 3413–3423.
14. Fernandez, A.; Baleanu, D.; Srivastava, H.M. Series representations for fractional-calculus operators involving generalised Mittag-Leffler functions. *Commun. Nonlinear Sci. Numer. Simul.* **2019**, *67*, 517–527.
15. de Oliveira, E.C.; Jarosz, S.; Vaz, J., Jr. Fractional calculus via Laplace transform and its application in relaxation processes. *Commun. Nonlinear Sci. Numer. Simul.* **2019**, *69*, 58–72.
16. Sabatier, J.A.T.M.J.; Agrawal, O.P.; Machado, J.T. *Advances in Fractional Calculus*; Springer: Dordrecht, The Netherlands, 2007; Volume 4.
17. Gorenflo, R.; Mainardi, F. Fractional calculus. In *Fractals and Fractional Calculus in Continuum Mechanics*; Springer: Vienna, Austria, 1997; pp. 223–276.
18. Sarikaya, M.Z.; Set, E.; Yaldiz, H.; Başak, N. Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities. *Math. Comput. Model.* **2013**, *57*, 2403–2407.
19. Zhu, C.; Fečkan, M.; Wang, J. Fractional integral inequalities for differentiable convex mappings and applications to special means and a midpoint formula. *J. Appl. Math. Stat. Inform.* **2012**, *8*, 21–28.
20. Mo, H.; Sui, X. Generalized-convex functions on fractal sets. *Abstract Appl. Anal.* **2014**, *2014*, 254737.
21. Tomar, M.; Agarwal, P.; Choi, J. Hermite-Hadamard type inequalities for generalized convex functions on fractal sets style. *Bol. Da Soc. Parana. De Matemática* **2020**, *38*, 101–116.
22. Wang, J.; Fečkan, M. *Fractional Hermite-Hadamard Inequalities*; Walter de Gruyter GmbH & Co KG: Berlin, Germany, 2018; Volume 5.
23. Katugampola, U.N. New approach to a generalized fractional integral. *Appl. Math. Comput.* **2011**, *218*, 860–865.
24. Katugampola, U.N. Mellin transforms of generalized fractional integrals and derivatives. *Appl. Math. Comput.* **2015**, *257*, 566–580.

25. Chen, H.; Katugampola, U.N. Hermite–Hadamard and Hermite–Hadamard–Fejér type inequalities for generalized fractional integrals. *J. Math. Anal. Appl.* **2017**, *446*, 1274–1291.
26. Zeng, S.; Baleanu, D.; Bai, Y.; Wu, G. Fractional differential equations of Caputo–Katugampola type and numerical solutions. *Appl. Math. Comput.* **2017**, *315*, 549–554.
27. Mahmudov, N.I.; Emin, S. Fractional-order boundary value problems with Katugampola fractional integral conditions. *Adv. Differ. Equ.* **2018**, *2018*, 1–17.
28. Kermausuor, S. Generalized Ostrowski-type inequalities involving second derivatives via the Katugampola fractional integrals. *J. Nonlinear Sci. Appl.* **2019**, *12*, 509–522.
29. Mumcu, I.; Set, E.; Akdemir, A.O. Hermite–Hadamard type inequalities for harmonically convex functions via Katugampola fractional integrals. *Miskolc Math. Notes* **2019**, *20*, 409–424.
30. Toplu, T.; Set, E.; Iscan, I.; Maden, S. Hermite–Hadamard type inequalities for p-convex functions via katugampola fractional integrals. *Facta Univ. Ser. Math. Inform.* **2019**, *34*, 149–164.
31. Dubey, R.S.; Goswami, P. Some fractional integral inequalities for the Katugampola integral operator. *AIMS Math.* **2019**, *4*, 193–198.
32. Mercer, A.M. An improvement of the Grüss inequality. *J. Inequal. Pure Appl. Math.* **2005**, *6*, 93.
33. Lupinska, B.; Odziejewicz, T. A Lyapunov-type inequality with the Katugampola fractional derivative. *Math. Methods Appl. Sci.* **2018**, *41*, 8985–8996.



© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<http://creativecommons.org/licenses/by/4.0/>).